SET -2

*g .

Series : SGN/C Code No. 64/2
A . wireqreff <l w1 ST-YFETH 6 TE-TS
R W 3759 ford |

oll No.

Candidates must write the Code on
the title page of the answer-book.

AT ST H A foh 39 T H Gfgd T53 11§ 757 2 T3 A 6 8 |
AT ¥ e g1 T TR feu 7T g TR ol BT I -YfKrh o [T -7 W ford |

T A= B A o 0 TH-TAH 22 T £ |

HIIAT T T IT FAGHT & B & U8, T 1 shHATeh 3a¥d TG |

9 Y- I U o foTu 15 fire o1 aw feorm w2 | wea - o1 forawr gate | 10.15 991
foRaIT ST@ | 10.15 S F 10,30 991 G BT shael Y- ol U 3R 30 3G o SRE o
IA-YGThT T HIE IR &I fora |

Please check that this question paper contains 11 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

64/2

(i)
(ii)
(iii)

(iv)

v)

(vi)

(vii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
these one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and labelling
of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.
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1. o Iy uiEeHT 0 8 ? 38! Ush oy fafau | Vot =1

What is ‘Golden Quadrilateral’ ? Give one advantage of it.

2. ‘@ gETeEl % T i gid SATEvshdl § |7 =ITHETd 3aUsy | 1

“There an urgent need to conserve mineral resources.” Justify.

3. o ags e (S.3TR.3T.) < YHE % 6 oot HIT | 1

Mention the major function of Border Road Organisation (BRO).

4, ‘AT qF TS’ Y HehoudT shl 1@ HIfTT | 1

Examine the concept of ‘Target Area Planning’.

5. Wi o TR & H R STuTd qesl o TR H®i 8 ? 1

Why is sex ratio in Asian urban areas remains male dominated ?

6. Toga@es wAdFE ? 1

What is the meaning of ‘open cast mining’ ?

7. ‘S 3R GE Y I ST HIfT | 1

Explain ‘Slash and Burn’ agriculture.
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10.

11.
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“HTLd H 2T 1Y h THE@ TGT @ |” U 1 JeATHA hITT |

“The industries are major air polluters in India.” Evaluate the statement.

WS 3T ST fohd TR ETEE 39T I 9 it 8 2 & shifsru |

How are mineral based industries different from chemical based industries ?

Explain.

IE T T4 Tgfd & e A7 918t & o1 99 &1 ¥ §Thl WH-Te shi 1SS TUET hi
Q9 4 I % el oS U9 Gol &l H S )@ § | 98 e o div U HEwaqul SuR
forenfia 21 9 &, et & wfafed iRl safaa 31oe =’ & ShRieerel T -9 ¢ |

FW feu v, Iese % ded H AHe % folu, wes waiawr’ o qedi s =T
38U=T |
It is a new trend of people moving away from congested urban areas to cleaner areas
outside the city in search of a better quality of living. Important suburbs develop

around major cities of the world and everyday thousands of people commute from

their homes in the suburbs to their work place in the city.

In the light of the above paragraph, justify the values of cleaner environment

for humankind.

“STRf STIER TGH LT 3 TR AT ST START HLaT § a2 dR-¢R Thfd 1 Aeiento
B ST R |7 39 A I FHINO HITT |

“Nature provides opportunities and humans make use of these and slowly nature gets

humanized.” Substantiate the statement.
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12. @ 7 arfetert 1 TraETIYES TeEH HiferT 3R 3T = fou 7 et & 3w fofau -

1+2=3
WA — TR 1 JgimEr 1951-2011

- TR /TR TR SHEEAT A THT

Hpel hl HET (&STRI H) SR % e (%)
1951 2,843 62,443.7 17.29 41.42
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,59,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
2011 7,935 3,77,000 31.16 31.08

(12.1) forE 21 o G TWRISHIUT 61 CIhIT Jfg T STUTA Taiersh o ?
(12.2) &1 SR TR &t # i gig o o formal < ron 6t samen i |
Study the following table carefully and answer the questions that follow :

India — Trends of Urbanisation 1951-2011

Year Number of | Urban Population % of Total Decennial
Towns/UAs (in thousands) Population Growth (%)
1951 2,843 62,443.7 17.29 41.42
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,59,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
2011 7,935 3,77,000 31.16 31.08

(12.1) During which decade the percentage of decennial growth of urbanization was
maximum ?

(12.2) Explain any two reasons for the regular growth of towns and urban areas.
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e Tmfafed o shae gieeaiom ThefEt < e T s 12 F M WE : 1+2=3
(12.1) ORI & o1 AR B ?
(12.2) 9G¥ sl 3R TR 6 g & Foheal & Hron 6t e i |

Note : The following questions are for the Visually Impaired Candidates only, in

lieu of Q. No. 12.
(12.1) What is the meaning of urbanization ?

(12.2) Explain any two reasons for the growth of towns and cities in India.

13.  FAUST AR Ul o fAw 0o fore TepR elveres @ 7 9ee shifdte | 3

Explain how the International trade is mutually beneficial to nations.

14, ‘greg-gor 3R YW o foe o foiu STRerRt fohdl uie STgha Siehi S e
HT | 5x1=5

Explain any five favourable factors responsible for the development of ‘Mumbai-Pune’

industrial region.

15, “qRTS - o FA=aisdid SR % FANER & |7 39 U whi =ATFETd SESY | 5

“The Indian seaports are the gateways of the international trade.” Justify the statement.

16. ‘Tusc dufg guehl H 9RA i FAIEEAT § Y@ deald T & TU7 389 ¢ § -39
gfter ot yatferd feram 2 |7 IeTetvn afed e i gfee Hifv | 5x1=5

“India has undergone major changes within the economy over the last five decades and
this has influenced the land-use changes in the country.” Support the statement with

examples.
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17. ‘Gt AR 1 &1 334 g ? A0 fauve i 3R TR T i 6t el q-a
fereryanati 61 9 T | 1+2+2=5

What is the meaning of ‘retail trading’ ? Describe any two features each of Rural

marketing and Urban marketing centres.

18. ‘foepr®@’ @ @ ANY™ & ? THAT, Tad GINUIdT, ScATeehdl TR ERTERiIh fohd ThR
T Tt o IR T & 7 T T | 1+4=5

What is the meaning of ‘development’ ? Explain how equity, sustainability, productivity

and empowerment are the four pillars of human development.

19. fou o qr-hafeam temmmt 1 graeigdes srerm Hifve 3 3T = feu e ww=) 3 3w

1+1+3=5

(19.1) 38 T o g i o WIH o I ferflau |
(19.2) HfY 7ew 3R ireifies vew 1 Tm foiae, @ 78 mel ToRar g |
(19.3) 39 T Sl hATST shi 3Tk ot i a1 AT 8 ?
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Study the following map of Trans-Canadian Railway line carefully and answer the

questions that follow :
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(19.1) Name the terminal stations of this Railway line.

(19.2) Name the agricultural region and industrial region through which this line

passes.

(19.3) Why is this railway line considered as the economic artery of Canada ?

e Fafafad s e gfeeatia ahafiE < fore ye @ 19 % WH W E
1+1+3=5

(19.1) “UR-TETET ICTHTT 31 shl TIRATHd HifT |
(19.2) TSI o TR-HETEH IeTHH & AfH TRl o Wi o W ffau |
(19.3) 39t % 311 Hawa ot T IR |

Note : The following questions are for the Visually Impaired Candidates only, in

lieu of Q. No. 19.
(19.1) Define the term ‘Trans-Continental railway’.
(19.2) Name the terminal stations of Trans-Continental Railway of Canada.

(19.3) Explain the economic significance of this Railway line.
8
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20.

21.
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A | SHEEAT & ATH0-THE" TaT9 o SHIfehehd 3T HraTiSes qROmET i A= T
Y T HIT |

Examine critically the demographic and social consequences of rural-urban migration
of population in India.

2%+22=5

R o feu mu gorifaes Tar-amfes & fe@m mu gtg wimiferss @emm, A, B, C, D 3 E
=Y TEaH shifoe 31 3 Fal 9m Ffaftad et 6 gee © 396 arE i 78 e
1 farReu

(A)
(B)
©
(D)
(E)

T TE 1o
Teh SIS =Tg -
T ST Te

e THateT Tuge @ &
ek W T

5x1=5

In the given political outline map of the world, five geographical features are marked as A,

B, C, D and E. Identify them and write their correct names on the lines marked, near them,

with the help of the following information :

(A)
(B)
©
(D)
(E)

e

Q1.
Q1.
Q1.
Q1.

1.

A major sea-port.

An International air-port.

An Industrial region.

An area of subsistence gathering.

A mega city.

- frefoifaa e hae gfeeanTiem whanfRi o foTu srom T 21 & WH W e -

1) ATEgfera o feret T Y@ THE -9 &1 T fafeT |
2) 3l o SIS ARY-UH 1 W fIRaw |

3) S 1 Y@ ST TeT B TR ?

4) SIS Halg GUge & 1 Ieeid Hig |

5) rgsifen 6 T Rl s am faReay |

5x1=5
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Note : The following questions are for the Visually Impaired Candidates only, in lieu
of Q. No. 21:

(21.1) Name any one major sea-port of Australia.

(21.2) Name the international air-port of Italy.

(21.3) Which is the major industrial region of Germany ?
(21.4) Mention the area of subsistence gathering in Brazil.

(21.5) Name the mega city of Nigeria.

22. ¥uRa % feu T aeifos war-aetes # fefefea dimfas aan w swge foel 3
TS, 37 37eh A forfaw - 5x1=5

(22.1) hEdT (hithl) T U IUTEH TS
(22.2) feam SIS H Teh HEIYUl AT G &5
(22.3) HE eI H Gt I fircti Uoh HEwqul oheg
(22.4) 3N 4 U gl ag-uH

(22.5) TEH HH TGS T AT T

Locate and label the following Geographical features on the Political Outline map of

India with appropriate symbols :

(22.1) The leading Coffee producer State.

(22.2) An important Coal mining area in West Bengal.

(22.3) An important Centre of Cotton Textile Mills in Madhya Pradesh.
(22.4) An important seaport in Odisha.

(22.5) The State with lowest density of population.
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e - Frfefiaa w7 haa gieafem wamfRi & e e 2 F WA WE: 5x1=5
(22.1) WA o 3TUft e (HIAT) IcaTgeh T 1 A1 faRan |

(22.2) @i R @ & forr s 1 R R 2

(22.3) TSIA o feRell Teh HEwaqUl Tl a@ Tieti o g o1 A fafaw |

(22.4) TGN < HETEYUl TS -U 1 AW fofau |

(22.5) YRA o fopd T T SHEAT 1 e Te8 HH B ?

Note : The following questions are for the Visually Impaired Candidates only, in

lieu of Q. No. 22 :
(22.1) Name the leading Coffee producer State in India.
(22.2) In which State is Jharia Coal Mining area located ?
(22.3) Mention any important Centre of Cotton Textile Mills of Gujarat.
(22.4) Name the important seaport of Goa.

(22.5) Which State of India has the lowest density of population ?
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7% ¥, 21 % e AEtas
Map for Q. No. 21

WORLD: Outline
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U9 . 22 & fow AEte
Map for Q. No. 22
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